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[61-GUJ]                                   No. of printed pages : 5 

 

SARDAR PATEL UNIVERSITY 

S.Y.B.Com. [ IV SEMESTER ] EXAMINATION 

Thursday, 19th April 2012  

3.00 pm to 5.00 pm 

UB04ECOM01/17 : ADVANCED ACCOUNTING-II 

 [ CORPORATE ACCOUNTING ] 
        

Total Marks : 60 

_p¢^ : S>dZu bpSy>_p Ap„L$ NyZ v$ip®h¡ R>¡. 
 

â.1 fpÆh rg. A_¡ L$fZ rg. A¡ sp. 1-4-"12 _p fp¡S> k„ep¡S>_ L$fhp_y„ _½$u L$ey¯. b„_¡ 
L„$`_uAp¡_p¡ „̂^p¡ Mfuv$hp fpS>L$f_ rg. õ\p`u. k„ep¡Æs b„_¡ L„$`_uAp¡_p sp. 31 dpQ® 
2012 _p fp¡S> `pL$p kfh¥ep„ _uQ¡ dyS>b lsp.  

(15) 

S>hpbv$pfuAp¡ fpÆh rg. 
(ê$p.) 

L$f_ rg. 
(ê$p.) 

rdgL$sp¡ fpÆh rg. 
(ê$p.) 

L$f_ rg. 
(ê$p.) 

ê$p.100 _p¡ s¡hp    `pOX$u - 600000 
 C[¼hV$u i¡f 2000000 1500000 àgpÞV$-e„Óp¡ 722000 723000 
_._y„. Mpsy 123000 75000 S>du_-dL$p_ 538000 - 
A_pds 240000 - õV$p¡L 474000 127000 
g¡Zv$pfp¡ 527000 314000 v$¡hpv$pfp¡ 814000 418000 
v$¡hu lŸ„X$uAp¡ - 127000 b¢L$ rkgL$ 342000 148000 
 2890000 2016000  2890000 2016000 

 

 fpÆh rg. _u b¢L$ rkgL$ rkhpe_u b^u S> rdgL$sp¡ _uQ¡ dyS>b h¡Qu.  
 S>du_-dL$p_ s\p àgp_-e„Óp¡ 20% Okpfp bpv$ õV$p¡L$dp„ 10% h^pfu_¡.  
 L$f_ rg. _u b¢L$ rkgL$ rkhpe_u rdgL$sp¡ _uQ¡ dyS>b_u qL„$ds¡ h¡Qu :-  
 àgpÞV$-e„Óp¡ ê$p. 400000  
 AÞe rdgL$sp¡-Qp¡`X$p qL„$ds¡  
 `pOX$u_y„ d|ëe ê$p. 300000  
 _hu L„$`_uA¡ b„_¡ L„$`_u_p v$¡hp„ Qp¡`X$p qL„$ds¡ gu^p„.  
 fpÆh rg._¡ Mfuv$ qL„$ds `¡V¡$ ê$p.100 _p¡ s¡hp 10000 i¡f, ê$p. 100 s¡hp 5000 

qX$b¡ÞQfk® A_¡ bpL$u_p fp¡L$X$p Apàep. Äepf¡ L$f_ rg. _¡ 7000 i¡f âÐe¡L$ ê$p.100 
g¡M¡, 500 qX$b¡ÞQfk® ê$p.100 g¡M¡ s\p bpL$u_p fp¡L$X$p Q|L$ìep. 

 

 _hu L„$`_uA¡ 18000 C.i¡f v$f¡L$ ê$p.100 _p¡ s¡hp ê$p.110 g¡M¡ Ål¡f S>_spdp„ blpf 
`pX$ép, S>¡ `|f¡`|fp cf`pC \ep lsp.  

 

 âp\rdL$ MQ® ê$p.8000 \ep¡.  
 _hu L„$`_u_p Qp¡`X¡$ sdpf¡ Apd_p¢^p¡ Ap`hp_u R>¡.  
 A\hp  

 
â.1 b¡õV$ rg. A_¡ f¡õV$ rg. kdp_ âL$pf_p¡  „̂^p¡ L$fsu b„_¡ L„$`_uAp¡A¡ k„ep¡S>_ L$fhp_y„ (15) 
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_½$u  L$ey¯ A_¡ N¡õV$ rg. _pd_u _hu L„$`_u õ\p`u. b„_¡ L„$`_uAp¡_u `qf[õ\rs _uQ¡ 
dyS>b R>¡. 

 

v$¡hp„ b¡õV$ rg. 
(ê$p.) 

f¡õV$ rg. 
(ê$p.) 

rdgL$sp¡ b¡õV$ rg. 
(ê$p.) 

f¡õV$ rg. 
(ê$p.) 

900 C. i¡f  90000 - `pOX$u 10000 - 
6000 C.i¡f - 60000 v$¡hpv$pfp¡ 75000 30000 
_._y. Mpsy„ 15000 10000 õV$p¡L$ 60000 60000 
qX$b¡ÞQfk® 40000 - b¢L$ rkgL$ 20000 - 
g¡Zv$pfp¡ 20000 20000    
 165000 90000  165000 90000 

 

 b¡õV$ rg. A_¡ f¡õV$ rg. _p¡ kf¡fpi _ap¡ A_y¾$d¡ ê$p.45000 A_¡ ê$p.30000 R>¡.  
 N¡õV$ rg. A¡ b„_¡ L„$`_pAp¡_p¡ „̂^p¡ ê$p.195000 dp„ g¡hp_y„ _½$u ¼ey¯. S>¡ `¡V¡$ ê$p. 

15000 fp¡L$X$p  A_¡ bpL$u_p `¡V¡$ i¡f Ap`i¡.  
 

 A¡hy„ _½$u L$fhpdp„ Apìey„ L¡$ ê$`p„sf L$fhp\u \sp¡ _ap¡ b„_¡  L„$`_u_p i¡flp¡ëX$fp¡ hÃQ¡ 
s¡Ap¡ ANpD S>¡ âdpZ¡ _ap¡ d¡mhsp lsp s¡ âdpZdp„ hl¢Qhp¡. 

 

 b¡õV$ rg. A_¡ fp¡õV$ rg._p Qp¡`X¡$ dpg rdgL$s r_L$pgMpsy„ s\p i¡f lp¡ëX$fp¡_y„ Mpsy„ 
b_php¡. sdpfu NZsfuAp¡ õ`óV$ v$ip®hp¡. 

 

   
â.2 huL$ rg. _y„ 31 dpQ® 2012 _p fp¡S>_y„ `pLy„$ kfh¥ey„ _uQ¡ dyS>b R>¡. (15) 

S>hpbv$pfuAp¡ ê$p. rdgL$sp¡ ê$p. 
ê$p.100 _p¡ s¡hp C.i¡f 10000000 L$pedu rdgL$sp¡ 12500000 
12%_p ê$p. 100 _p¡ s¡hp   fp¡L$pZp¡  (bÅf 

qL„$ds 
 

 L$eyçeyg¡V$uh â¡. i¡f 5000000 ê$p. 950000) 1000000 
ê$p.100 _p¡ s¡hp 10% _p    Qpgy rdgL$sp¡ 10000000 
 qX$b¡ÞQf 4000000 _._y.Mpsy„ 400000 
`fQyfZ g¡Zv$pfp¡ 5000000 âp\rdL$ MQp® 2000000 
L$fh¡fp Å¡NhpC 100000   
    
 24100000  24100000 

 _uQ¡_u ep¡S>_p d„S|>f \C :-  
(1) âÐe¡L$ C¼huV$u i¡f ê$p. 40 ky^u OV$pX$hp  
(2) âÐe¡L$ â¡afÞk i¡f ê$p. 60 ky^u OV$pX$hp  
(3) qX$b¡ÞQf_p¡ ìepS> v$f h^pfu_¡ 12 V$L$p L$fhp¡. qX$b¡ÞQf lp¡ëX$fp¡ s¡d_p leps ê$p.100 _p¡  s¡hp 

qX$b¡ÞQf L„$`_u_¡ kp¢`u v$¡i¡ A_¡ s¡d_¡ bv$gpdp„ A¡L$ qX$b¡ÞQf_p bv$g¡ A¡L$ qX$b¡ÞQf ê$p.70 
g¡M¡ Ap`hp. 

(4) g¡Zv$pfp¡ `¥L$u A¡L$ g¡Zv$pf L¡$ S>¡_¡ L„$`_uA¡ ê$p.2000000 Q|L$hhp_p bpL$u R>¡ s¡Z¡ s¡_p 40% 
v$php¡ S>sp¡ L$ep£. s¡_p g¡Zp_u bpL$u `sphV$ dpV¡$  ê$p.40 _p¡ s¡hp 30000 C¼huV$u i¡f Apàep. 

 
 

(5) L$pedu rdgL$sp¡dp„\u 30% dp„X$u hpmhu.  
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(6) Qpgy rdëL$sp¡_y„ `y_: d|ëep„L$_ ê$p.4500000 L$ey¯.   
(7) L$fh¡fp_u S>hpbv$pfu ê$p. 150000 _½$u \C.  
(8) fpL$pZp¡ s¡_u bÅf qL„$ds¡ v$ip®hhp.  
(9) AhpõsrhL$ rdgL$sp¡ gMu hpmhu.  

 D`fp¡¼s ìehlpfp¡ _p¢^hp Apd_p¢^p¡ Ap`p¡.  
 A\hp  

â.2   
(A) rhÄep rg._p Qp¡`X¡$ 31-3-12 _p fp¡S> _uQ¡_u bpL$uAp¡ R>¡.  

  ê$p.  ê$p. 
10000, 6% _p ê$p.10 _p¡  
  s¡hp â¡. i¡f 

 
100000 

L$pedu rdgL$sp¡      
bpv$ : Okpfp¡        

70000 
14000 

16000 C.i¡f 160000  56000 
Ådu_Nufu rârded 30000 àgpÞV$          140000 
g¡Zv$pfp¡ 26000 bpv$ : Okpfp¡  30000 
15% _p qX$b¡ÞQf 50000 $ 110000 
`pOX$u 10000 õV$p¡L$ 74000 
`¡V$ÞV$k A_¡ V²¡$X$dpL®$ 21000 v$¡hpv$pfp¡ 17500 
_._y. Mpsy„ (D^pf) 55000 qX$b¡ÞQf `f  bpL$u ìepS> 2500 
âp\rdL$ MQp® 25000   

 

 _uQ¡_p¡ W$fph `kpf L$ep£ :-  
(1) â¡afÞk i¡f ê$p.9 ky^u OV$pX$hp¡  
(2) C¼huV$u i¡f ê$p.1.25 ky^u OV$pX$hp¡  
(3) Ådu_Nufu rârded_y„ Mpsy„ s\p A×íe rdgL$sp¡_p Mpsp dp„X$u hpmhp.   

 ($4) àgpÞV$_u qL„$ds ê$p. 50,000 NZhu. 
 (5) â¡afÞk i¡f `f A¡râg 2008\u qX$huX$ÞX$ Q|L$hhp_y„ L$pL$u R>¡. v$f ê$p. 10_p bpL$u â¡afÞk 

qX$rhX$ÞX$ `¡V¡$ ê$p. 1.25_p¡ s¡hp i¡f Ap`hp. 
 (6) qX$b¡ÞQf lp¸ëX$fp¡A¡ QY¡$g ìepS>_p¡ l½$ S>sp¡ L$ep£. S>ê$fu Apd_p¡„^ Ap`p¡. 
 

â.2 
 (b) dpÁep dyS>b S>hpb Ap`p¡. 
 (1) qX$b¡ÞQf lp¸ëX$fp¡A¡ s¡d_p 12 %_p ê$p. 500000_p qX$b¡ÞQf_p bv$g¡ Q|L$s¡_p rlkpb¡ 

ê$p. 225000_u diu_fu ê$p. 300000dp„ g¡hp_y„ õhuL$pey®. Apd_p¢^ Ap`p¡. 
 (2) R>¡ëgp b¡ hj®_y„ ê$p. 300000_p L$eyçeyg¡qV$h â¡afÞk i¡f_y„ qX$qhX$ÞX$ Q|L$ìey„ _\u. d|X$u 

OV$pX$p_u ep¡S>_p dyS>b bpL$u qX$rhX$ÞX$ A„N¡ v$f ê$p¡ 100 _p bv$g¡ ê$p. 25 _p¡ s¡hp BL$huV$u 
i¡f Q|L$s¡_p rlkpb¡ Ap`hp Apd_p¢^ gMp¡.  

 (3) d|X$u OV$pX$p_u ep¡S>_p dyS>b ê$p. 80000_p fp¡L$pZp¡ ê$p. 75000dp„ h¡Ãep. Apd_p¢^ Ap`p¡. 
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â.3 A`k¡V$ rg. 30-9-11 _p fp¡S> aX$Qpdp„ NB. Ap spfuM¡ s¡_y„ `p.k. _uQ¡ dyS>b lsy„.     
(15) 

 S>hpbv$pfuAp¡ ê$p. rdëL$sp¡ -g¡Zp„ ê$p. 
4000"A' B.i¡f âÐe¡L$ ê$p.100_p¡ 400000 e„Ó 684000 
4000"b'B.i¡f v$f¡L$ ê$p.100_p¡ s¡hp 
ê$p.80 cf`pB \e¡g 

320000 dL$p_ 720000 

3600, 8 %_p cf`pB \e¡g L$ey. 
â¡a. i¡f 

360000 ar_®Qf 14400 

kpdpÞe A_pds 10800 fp¡L$pZp¡ 288000 
10%_p rX$b¡ÞQf 540000 v$¡hpv$pfp¡ 25200 
qX$b¡ÞQf_y„ bpL$u ìepS> 54000 õV$p¡L$ 651600 
b¢L$ gp¡_ (fp¡L$pZp¡Nufp¡) 216000 fp¡L$X$-b¢L$ 28800 
g¡Zv$pfp¡ 306000 Ål¡fps 

D`gL$Mpsy„ 
3600 

âp¡. a„X$ 144000   
Q|. bpL$u `Npf:-  
4 L$gpL®$ - 28800 
5 L$pdv$pf- 36000 

 
 

64800 

  

 2415600  2415600 

 _uQ¡_u dprlrs Ýep_dp„ gB_¡ rgL$huX¡$V$f_y„ R>¡hV$_y„ AphL$-ÅhL$_y„ `ÓL$ s¥epf L$fp¡. 
 (1) rdëL$sp¡_p D`S>ep :- 
  dL$p_ ê$p. 1008000  ar_®Qf ê$p. 7200 
  e„Ó ê$p. 558000  õV$p¡L$ ê$p. 522000 
  v$¡hpv$pfp¡ ê$p. 21600 
  (2) â¡afÞk i¡f `f R>¡ëgp b¡ hj®®_y„ qX$rhX$ÞX$ bpL$u R>¡. 
 (3) rgL$huX¡$i_ MQ® ê$p. 33120 \ep¡. 
 (4) b^u S> Q|L$hZu 31-3-2012 _p fp¡S> `|fu \B. 

 (5) g¡Zv$pfp¡dp„ ê$p. 36000 AphL$h¡fp_p R>¡. (ApL$fZu 31-3-2011_p fp¡S> `|fu \B NB.) 
 (6) b¢L¡$ fp¡L$pZp¡ ê$p. 324000dp„ h¢Qu v$u^p„, A_¡ h^pfp_u fL$d rgL$huX¡$V$f_¡ `fs L$fu. 
 (7) qgL$huX¡$V$f_¡ s¡Z¡ D`Åh¡gu fL$d_p 3% g¡M¡ s\p rb_kgpds g¡Zv$pfp¡_¡ Q|L$h¡g 

fL$d `f 2 % g¡M¡ dl¡_spÏ„ Ap`hp_y„ R>¡.  
A\hp 

 

â.3   
(A) rdk ap¡Ãey_ rg._p rhkS®_ hMs¡ s¡_u Ly$g S>hpbv$pfuAp¡dp„ _uQ¡_u rhNsp¡ kdpe¡g 

lsu. 
(7) 

  ê$p. 
(1) L$d®QpfuAp¡_y„ âp¡rhX$ÞV$ a„X$ 100000 
(f) d¡_¡Æ„N qX$f¡L$V$f_u bpL$u au 7`00 
(3) R>¡ëëpp `p„Q dpk_p¡ b¡ L$pfL|$__p¡ bpL$u `Npf 7`000 
(4) b¡ hj® `l¡gp„_p¡ bpL$u AphL$h¡fp¡ 6`000 
(`) L$pdv$pfp¡_u bpL$u dS|>fu f`000 
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(6) R>¡ëgp ÓZ dpk_p¡ L¡$iuef_p¡ bpL$u `Npf 60000 
(7) R>¡ëgp hj®_p¡ bpL$u h¡V$ (VAT) 5000 

 

  D`f_u dprlsu `f\u k„`|Z® kgpds g¡Zv$pfp¡, `k„v$Nu_p g¡Zv$pfp¡ A_¡ rb_kgpds  g¡Zv$pfp¡ Sy>v$p 
`pX$p¡. 
 

(b) L$pë`r_L$ Ap„L$X$pAp¡_u dv$v$\u rgL$huX¡$V$f_y„ R>¡hV$_y„ `ÓL$ b_php¡. (8) 
   

`°.4 kpNf rgduV¡$X$ sp. 1/1/f011_p fp¡S> kqfsp rgduV¡$X$_p 80% i¡f ê$p. 8`000_u 
rL„$ds¡ MfuÛp.  sp. 31/1f/f011_p fp¡S> k„rnàs `pL$p kfh¥epdp„ _uQ¡ dyS>b R>¡. 

 

v¡$hp„ kpNf rg. 
(ê$p.) 

kqfsp rg. 
(ê$p.) 

rdgL$sp¡ kpNf rg. 
(ê$p.) 

kqfsp rg. 
(ê$p.) 

ê$p.10 _p¡ s¡hp    L$pedu rdëL$sp¡ 1f3000 `8000 
 C[¼hV$u i¡f 140000 50000 `pOX$u - 800 
kpdpÞe A_pds 70000 3000 fp¡L$pZp¡ (kqfsp 

rg._p i¡f kp\)¡ 
88000 - 

_._y„. Mpsy„ :-   õV$p¡L 31000 14160 
1/1/11_p fp¡S> f0000 1f000 v$¡hpv$pfp¡ f4000 1f`40 
hj®_p¡ _ap¡  40000 18000 g¡Zulw„X$u 3000 4000 
`fQyfZ g¡Zv$pfp¡ 14000 13000 b¢L$ f1000 10`00 
v¡$hu lw„X$uAp¡ 6000 4000    
 f90000 100000  f90000 100000 

 h^pfp_u dprlsu :-  
 (1) kpNf rg._p g¡Zv$pfp¡dp„ ê$p. 400 kqfsp rgduV¡X$ `pk¡\u Mfuv¡$gp dpg A„N¡_p R>¡. 
 (f) kpNf rg._u sdpd v¡$hul|„X$uAp¡ kqfsp rgduV¡X$_u sfa¡Zdp„ lsu.   
 D`f_u dprlsu `f\u A¡L$rÓs `pLy$ kfh¥ey„ b_php¡.  b^uS> NZsfuAp¡ õ`ô$ v$ip®hp¡.  
 A\hp  

â.4 A¡Q. rg. A_¡ A¡k. rg. _p sp. 31/1f/f011_p fp¡S>_p `pL$pkfh¥ep _uQ¡ dyS>b 
lsp. 

(15) 

S>hpbv$pfuAp¡ A¡Q. rg. 
(ê$p.) 

A¡k. rg. 
(ê$p.) 

rdgL$sp¡ A¡Q. rg. 
(ê$p.) 

A¡k. rg. 
(ê$p.) 

ê$p. 100_p¡ s¡hp C. 
i¡f  

1000000 40000
0 

àgpÞV$-e„Óp¡ 900000 f`0000 

kpdpÞe A_pds f00000 - ar_®Qf 10000 f0000 
_._y. Mpsy„ 1f0000 - õV$p¡L$ f00000 40000 
g¡Zv$pfp¡ 180000 10000

0 
v¡$hpv$pfp¡ 40000 f0000 

   A¡k.rg._p 
3000 i¡f 

 
f40000 

 
- 

   b¢L$ $ 110000 18000 
   _._y. Mpsy„ - 1`f000 
 1500000 `0000  150000 `00000 
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0 0 

 A¡Q. rgduV¡$X¡$ sp. 1 A¡râg f011_p fp¡S> A¡k.$ rg._p i¡f MfuÛp lsp.  
sp. 1/1/f011_p fp¡S> A¡k.rg._y„ _._y„.Mpsy ê$p. f00000_u D^pfbpL$u v$ip®h¡ R>¡.  

 

 A¡k. rg._p g¡Zv$pfp¡dp„ ê$p. f0000 A¡Q.rg. `pk¡ Mfuv¡$gp dpg A„N¡ s¡_¡ Q|L$hhp_p 
lsp, A¡L$rÓs `pLy„$ kfh¥ey„ s¥epf L$fp¡.  

 

   
              

 

 
 

 
 

 
 

 
 


